2

responsible tor establishing
W H bR

and maintain aste mnd
o

reporting system in India?
MW A ! -
'he Controller General of Accounts
R NITI Ayog
)
() RBI

®. Match the following:

Column - | Column - 11
1) Founderof Dogra Dynasty 1) 1846
i) Lastruler of Dey Dynasty 2) 1632

) Chashme Sahj garden wasg build
v) Year of Treaty of Lahore
Choose the correct answer

A i4, i3, ii-1, jv-2

B) i4,ii-3. -2, jy-1

3)' Jit Sifigh
4)  Gulab Singh

O i3,ii4, 1i-2, jy-]
D) .3, =4, iij-1, i

109, Consider the 1k)ll()wi11g |

Assertion (A): Rajataran
Reasop,
Valuab]e

A Aj

atements:
gini presents a written
(R): Historians seek lot of re
Source of information on the
Strue but R s false

Als false but R is true
po;)rcggﬁlhsgdaev(iit#@JFeHBﬁ %?&&lﬁ;mdiﬁmmmm

Aﬂnf{D PO SRSTURE Bos Vg A -

account of the history of Jammu.
levant information

from Rajatarangini as it isa
history of Kashmir,


http://www.cutepdf.com

16, Which of the

follow INE statements reo

"am reyg
A) '\h;\lll CrOps are sown witl th onset ol
the autumn with rice. i, ind pul
13) R.‘I"l\h\'\\.m'\n\'nmlln wintes
barley, and mustard being comme
C) Zard erops are cultivated during th ‘
otibl
seasons inelude fros and !
hat h jor e
D) Perenmal crops are those i uch a
enson

produce vields over multiple

wshmir
Jammu

i wls 1n Ji

17. Match the hydroelectric power proje

location l.ocation

: . Proiects
o Electric Power Proj ¢
Hydro Electr B Built on the

I

1) Baglihar Power Project village, 75 kilor

the Indian Union Te

l

) Ratle H.\(hl?L‘,L‘CII'IC Power | 1({|LL[

. 2
) Uri Hydroelectric Power Project 3)

2)  Built in the Rambar
and Kashmir on the ¢

Built on Chenab R

Pistrict of Jammu and K

installed capacity of 85

V) Nimoo Bazgo Hydroelectric Power  4) Built on the Jhelum Riy 1

Project

district of the Jamnu and

with installed capacity of 48

Choose the correct answer
\) 4, ij-], 1ii-2, jv-3

B) 02,0 1i=3, iv-4

C) i3, ii-2. Hi-4, jy-|
D) i2. i 3, 114, Iv-|
v 0,
8 1160y ol the Stude

NS in g ¢

i Ore
iny swudhclm\ 80%

ass score
S SCore( aboye 800

e 0, and there
B) 72
C) 48
D) 59

(Set- ()

are |20 students, ho



60. Select the Antonyms of the word
Abnegation
A)
B)
C)
D)

Repudiation
Relinquishment
Espousal

Abdicate

61. Select the related word from the given

Audacity : Fortitude :: Enviousness : 7

A) Spite
B) Altruism
C) Accord

D) Adoration

options

62. Select the related word from the given options:

Victory : Triumph :: Fear : ?
A) Bravery

B) Fortune

C) Wisdom

D) Trepidation

A damp squib

63. Which sentence expresses the correct meaning of the g1ver

1 idiom:

ations.

I

A)
B)
C)
D)
(Set- )

C
D)

A)

3)
)

Strong and sudden success that surpasses all expect
Challenging task that requires intense effort to complete.
Something that is not exciting or effective as expected.

Dangerous situation that leads to unexpected trouble.

64. Which sentence ex
ch sentence expresses the correct meaning of the given idiom:
Take it with a grain of salt

T

O accept something as i
ptsomething as true without questioning it.

To approach something with skepticism

0 dlbl egdl S p
ome l"g com ] l’ dnd O p .
I - d lh ele not ay d“c”[l()ll o It

]0 eml)ra (S l(lea or su (& O é < W
C€ an
gg stion enlhubldbtl(.d”y

(14)

ithout resery ation.



. Filln the bla
Wwith o suitable phrasal verb in the sentence below

A)
1)
)
D)

e up
put ofY

unout

She was teel
< \ mn y
R unwell, but afler some rest, she managed to
COMe around

66. Which of the f { ' '
\ \\.h. of the \\.\\lm\mg options correctly matches the inventor with their important
invention and discovery

67

68.

Name of Inventor

i)  Karl Landsteiner

i)  Theodore Maiman

iti)  Hubert Cecil Booth

iv) Julius Robert Oppenheimer
Options:

A)  i-1,1i-2, ii1-3, iv-4

B) 13, 1i-1, iii-4, iv-2

C) i-1,1i-2,iii-4, iv-3

D) i-4,ii-2,iii-1,iv-3

Important Invention or Discovery
1) Laser

2) Atom Bomb

3) Blood Group

4) Vacuum Cleaner

Sakshi Malik became the first Indian female wrestler to Win an Olympic medal. She won
which medal and in which category”’

A)
B)
C)
D)

Arrange the follow

Bronze medal in the 58 kg category
Bronze medal in the 53 kg category
Qilver medal in the 53 kg category

Bronze medal in the 63 kg category

establishment years.

1. The Indian EXpress

2. TheHindu

3. The Economic Times
4. Hindustan Times

A L3 2,4

B 2.4 1,3

o L2 3,4

py 3L 2,4

(1%

ing Indian Newspaper 1

n the chronological order of ther

(P.T.0.




In 1989

recogniti

\) 3and4

B) B2ands
O) ), 3 and 4
D) 1,2 3and4
71. W hich of the lollowing statements abouyt \Janta ( aves is
! Vjanta caves are Series ol rock-cut Caves on Wy, he
Maharashira
: These caves are located in the Sahy adri ranpeg on |
3 There are 4 lotal 32 cayes N Ajanta of hich 6 w er
were used as IL'\Il!('H“.II caves
/ Vanta Cayeg dre crescent shapes ip the form o
Paintings l/u'lm'd;uuu/nl Hthnnm
Choose the Correct angwep..
A) l'and 4

B)

28 and 4
D) | 2,3 ang 4
(Set - )

l,2 and 4

&—;

as

y lound
v

| mnw

Cathoh 1

lere 1 (&

| cted individual
t and most negic
mndn

Is and g
! vards i

I more than 120 av

cceived more

posthumously

he Padma Shr1 ang ,
honored with 1l

ed with the
she was honored

"

i<l s
Choose the correct answe

(16)
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1on from one to anc
Additional light to soften

aStigmatism?

MOWS less Jighto

22

32

SLR ip cor.nexl of pholography meang?
A)  Sem; Lens Reﬂeclor ‘
B‘ ) Single Leng Range
C) ingle Leng Refle
D) Pecificay;
Catigp of Le
NS Range
43. The 4moun of ligl tor
a 8
A Expes : €88 on Dholngraph 1s known as
B) \hullu S d
C) Fog us
D) ¢ ONlragy
4. The am nnlnllnyhlp.n\u )
| W G K lhlnugh o |\'n\ s Jetined by
| Iy LT
(Set-0)

1)



Fill in the blank using suitable articles, When 10,
among the given options

it

s 56
Sarah was excrted to visit Eillel Tower during |

A)  No article. No article
B) the, No article

C)  the, the

D)  Noarticle, the

52. Fill in the blank using suitable articles. When no article is quires
among the given options.
Eating orange and banana together may cause digestive issue
have different digestion rates,
A) the, the
B) an.a
C) an,Noarticle
D) the, No article
53. Pick out the subordinate L‘Iill.l.\‘t' in the below sentence
If the customer crosses the line and becomes abusive. assert
stop.
A) If the customer crosses, the line -
B)  The customer crosses the line and becomes abusive
C)  Ifthe customer crosses the line and becomes abusive
D)  assertively ask the customer to stop
4. The indefinite pronoun in the below sentence is
Anyone car , ‘ '
can jomn the club as long ag they are mierested in learning pew < K
1) Anyone
,‘:’ ! ]"”.“AI‘
C)  they
1)) It
. i orrect | f
i "Hlu’n“,“ : -
e pirad : ( lni\nlll'ilxl\ llh' sentence
redicted T wh
> wWilCl s
Cdgreat ,I\'.ll would the I
‘ Cland. leay Ing it dry and
/ 1 cor Cre
I3)
4 Cor ear, ser
C) T
CT'( Al eer
D)



g

1o be positive it

Has to be negative integ

ometer

B)  micrometer

C) microdensity

3
D) microdensitometer
18.  Yournegative is very weak with very little shadow detail. Why
A)  Under exposure and under development
B)  Under exposure and over development
y 4
C)  Overexposure and over development '
D)  None of these
e Gy e . .
9. The laws of teflection hold good for
A)  Plane mjrr, r only
B)  Concaye mirror only
C g R ’
) Conyex mirror only “
D) Al
MIITOr irrac S 5 5 A
FIrespective of their shape
\ |
the digttt™ : |
jto et :
Cra controls how long light is expestt y
Set-C)
(6)
o



)‘ The ety of Jammu got its name from . hieh King?’
\) Tambu L ochan
)} A i
Y Babne- Vahon

D) log Ry

re

In which vear, the first Legislature of JTammu and Kas

A) IR19 AD
B) 1890 AD
C) 1934 AD
D) 1970 AD

3.  Simplify : 1 -[5-{2+(-5+6-2) 2}]

A 2
B) -4
c) O
D) -2
4. Inahockey championship, there are 153 matches played. Every two-team pia ed one
match with each other. The number of teams participating in the championss P 1S
A) 16
B) 17
C)ls18
D) 19

/5. The sum of four consecutive two-digit odd numbers, when divided by 10, becomes ¢
perfect square. Which of the following can possibly be one of these four numbers?

A) 21
B) 41
C) 67
D) 73

8.C16,B32 What number should fill the blank?

6



12.

13.

14.

Zinc fluoﬁd‘ei
() Magnesium fluoride gl
D) Nickle fluoride -

in a diffuser enlarger). You decide lomﬂl,m

Your print needs 8 second at 5.6 (
your new exposure?
A) 16 seconds ’ :
B) 32 scconds
C) 8 seconds

g -

D) 24 seconds o s -
= r_. - r i
1,0 "-, n
The inability of a lens 10 form a white image of a \\Iulc oﬁ 1§ known as
A) Spherical Aberration
B) (Chromatic Aberration
C) Monochromatic Aberration
p) Coma
: Rty
Key light in context ol plwlngmph_\ refers 10
A) be ack light
B) sofl Jight
() princ |p.|l illuminator
1J) [iler |
5h P CRONIES (14N
o main ¢ alout TH TS proce suing cal Fis

th 0 I nlul H\'\L‘\\H\t'
A) l) “d“ \,Hl‘“ nlll(l \l“ {i-s |

Hall-¢ color and l’““"" color processiig
o I .|| color ant d I‘““"” color provessing
- ‘ull- ¢ '
o0 Half color and full-color processiiiy
12) anr

(P.T.0.

(3



Promises
Mot of the dancers are physivally

) Muost of the singetr

Conclusions:
(1) Most of the singers A€ |I|I\\I\‘.I||\ it
(1) Mosl ol the dancers are singers l"‘ccr"
cons are 4 8.
(1) Most of the phy sically fit pers¢ § or ‘
ph_\'sicnlly {it pers

(IV) Most of the
Codes: " it
A) (l)nnd(ll) . e
B) (Huuul(lll) -
C) Hll)zmd(l\/) .
<)
vyand (1)
b o
8. ¥ Haincode language: BOARD is writtenas EQBNC, How will be the word CLIMB :
. Inace i
. written in that language?
3 Icl IKD RO ARD C Lk Ny p
e fO%N e F NT .
B) DKILF ‘
DL
¢) DNHMB
\A

p) FNIRO

hildren. The average age of

9, A family consists of grandparents, parents and three grande
hat of the grandchildren \s

grandparents is 67 years that of the parents is 35 years and t
6 years, What is the average age of the family?

A) 283 years
B) 315 years
€) 323 years

25% years




23.

24.

25.

(Set - ) M

Stores photos on a memory card
D) Hasashutter

Which of the following is the first and foremost step in Image Processing?

A) Segmentation
B) Image acquisition
C) Imageenhancement ﬂ P

<

D) lmage restoration

viding the frame ﬁéﬁ@dﬂﬁw\muemm\md’hmmmmw
thh composno L I

amru Eaghiwls Mlerts § Updates
A) Golden ratio

B) Ruleof thirds
) Leadinglines
p) Ruleof odds

Which colour mode is used for digital lmage”
A) CMYK

B) HSB

C) PANTONE

p) RGB

\v

Y ‘ST 1),




(=
n

37.

38.

(Scl—(‘)

What is the aerop
to 1/7200? (Ground
the camera lens is 153 mm)
A) 1145m
B) 1397 m
C) 10215m
D) 1284 m

Infrared Pholng raphy is based on which of the followin
A) Infrareds are more coherent than visible radiation
B) The peak maximum radiation varies with thetemperature
C) The dispersion of infrared is larger than that for visible radi
D) The Doppler effect of infrared is larger than that for visible radiatio

Which shutter speed lets in more light? ' r!
A) 1/30 e
B) 1/60

C) 1/400

D) 1/1000

CCDisa

A) Sensor

B) Lens

) Flash

D) External light source

in August | 8NN
’ roduc ed
3 , Fastman int
George Eas
im L'JIHL'I.I

A) Roll fil

L'l'il
Polé yroid € ‘am

B) y
C) Lk \l)thlllL meler

lour film
¥ 4 9)



30,

31,

M Camerg ( )bscura mean?

B)  Dark room

) l.ij;hl source

D) Aperture

Changing ()¢ overall sensitiy Ity ol the image is
A) Humination

B) brightness

C) brightness adaption

D)

Hlumination adaption

What i Histogram Matching

also called as?
A) Histogram | qualisation
B) I||~.1np|.uu\|w\ ication
() Histogram linearisation
D)  None of the Mentioned

Which type of the follow g

\ \ ‘ L UG
) ) l) | ! L \|I‘|l'\l used i
\ t”c‘“\l

13) Orthogonal

C) Central

D)  None of the aboy

(Sel-(‘)

J| photv!

ns
o ‘l"l



D) Vector

47. Whatis Ambient light?
A) Artificial light
B) Backlight
C) Available lightat surrounding
D) Unused light

—

48. Who coined the term 'photography'? = \
A) FoxTalbot IE jaa r!‘- [_j. 5 . l n
B) SirJohn Herschel Tawms. Kashilr Merts & Updates
C) Joseph
D) Daguerre

49. Daylight colour filmis balanced for light at

A) 3200 Kelvin
B) 3500 Kelvin
C) 5400 Kelvin
D) 4500 Kelvin : "

80, Makinga sensible use of Advcnising Pyowmphy. Coca-Cola has an casily w G
" logo (its name written in a flowing script) and is usually w‘ or
¥ hat do these elements combine 0
-

famously curvy pottle, W
A)  Brandimage

B) Brand personality
) Brand equality

p) Brand identity

(n
(Set - C)



Which language is primarily use
the Supreme Court of India? 1sed for delivering judgments and egal des
A) English | a-3f
a p) Hindi

@) All 22 scheduled languages
Language that is mother tongue of petitioner

D)
7. Match the [nternational Organizations with their respective Headquarters
lnternationalOrganizations Headqu u"m' ;
Ri) United Nations Organization (UNO) {) Kathmandv, Nepal
i) World Health Organization ( WHO) 2) Geneva, Switzerland
{ii) United Nations Education Scientific and® ) New York. US
Cultural Organization ( UNESCO)
Gouth Asian Association for Regional 4) Paris. France
Cooperation ( SAARC)
Choose the correct answer:
i-4, ii-1; iii-2, iv-3
. o i-1, iii-3, iv
Fii
; pizeandin i reld was it Award

'spundmg

Rashtriy? vigyan
yement
gyah purask? ;‘)cmi’ommtion and evolution of star
clusters and galu.\ics
2) work in the field of biological
seiences, paniculurl_\- on
malaria parasites
3) Dctcrminutiun of carbon

capture technologies

4) Successful landing India's first
spacecraft on the Moon in
2023



nls 1l h entem with ¢
1 will meet you i th
il
13) | 1]l meet you it th
hill
) | will mee ou at the
Il
1) | will meet you it th
il
59 ject tn ynonym O Hhie
Caiol

14) I nad
() Pestel
[)) Coceret

Orred

;»H\

|n|v\

pn\

L U tualion mark
hesaid, PMak
hn i, "Mal
Iy vd Aal
he said. Mal

(13)




84.  Mr. Kunal who is the founder of Verma Enterprises, 15 the s g
grandson of Mr. Suraj Verma, The current Managing Directon = oy,

1L re

§ 4 R ¢ din ',
Ms. Ritu, who is the daughter of Sungeeta. Sangectais n; d} (n,: ’
wife. What is the relationship between Mr. Kunal and %

A)  Cousin
B) Nephew
C) Brother
D) Uncle

' = ofthe € iter?
‘Which of the following is the brain of the compt

Central Processing Unit
b
Arithmetic and Logic unit

D . ‘ ‘_.__.rfn unit

[ . (P > ) |
86. The deleted c=mails can be found in which folder? «

A)  inbox sk 44

B) trash
C) drafi
D) sent

87. Home key is used for

A)  Moving the cursor to the beginning of the document
B)  Moving the cursor to the beginning of the paragraph
C) M_oving the cursor to the beginning of the screen

D) a@ﬂggﬂle cursor to the beginning of the line




Cr A

nom el

vV Of | adal

Clin 'ld’].!‘
ab River

n K 1shtw;
ishmir wit
MW

n Baramul;

d Kashmi
480 MW

jents, ho¥

81.

82.

83.

'r.

» UCCTreay

If x =2.45 and

L85, th

A) 0.36
B) 0.45
C) 0.67

D) 0.89

What should come i the place of (7) in

2-5. 8 1615, 7520
A) 18
B) 24
C) 30
D) 32
iven alphal
Choose the missINE terms i0 11
()QL,()SN\SUI’.'.’
A) LNK
B) TVS
C) UWR
D) wyu (19)

\\) L




n M-S Worl M

W 1
\) et

) il

L) View

D) i

u “llslllulll\ o fore of ternel

\) Internationa! Networl

i
“' ||H||\|||l||\\l\ll TRAVL

S ALAL

‘ b Intercontnental

0

Mx‘]

It l Networt

(1)




93, Select the correct mateh
1) The processing time of this OS I8
consistent and pr edictable
) This feature of Windows lets you
check the performance of your compuict
i) This OS providesa iUl to the users
iv)  This OS is specifically designed
for mobile phones
Choose the correct answer
A) 14, i1-2, ii-1, 1v-3
B) 1-3, 114, -1, 1v-2
C) i-2,1i-3,iii-4, iv-1
D) i-1,ii-3, iii-4, iv-2

94. Consider four numbers as g1v en below:
i) 100 measured in binary scale
i) 100 measured in octal scale
iii) 100 measured In decimal scale
iv) 100 measured in hexadecimal
Select the correct ascending of above

scale
numbers.
A) i, i, 1, 1y

B) i, 1V, iii, ii

C) 11,1V, 1ii

D) i,1v,1i, iii

DS
”Vh[(;ﬂ)undcdllu association ‘Naujawan Bharat Sabha’ to help foster revolution again
: \
1¢ British Raj by gathering together worker and peasant youth in 19267
A)  Surya Sen

B)  Bhagat Singh
C)  Chandra Shekhar Azad
D) VD, Savarkar
96.
Pradhan Maniri Ujjwala Yojna was |

A) May 2016 Aunched in:

B)  May2014
€ July2019
July 2018

(22)



